Problem Set: Unit 4 – Capital Budgeting Decision Methods

1. Sordash Enterprises is considering a capital expenditure that requires an initial investment of 42,000 euros and returns after-tax inflows of 7,000 euros per year for 10 years.  The firm has a maximum acceptable payback period of 8 years.

a. Determine the payback period for this project.

b. Should the company accept the project?  Why or why not?

2. Calculate the net present value for the following 20-year projects.  Comment on the acceptability of each.  Assume the firm has an opportunity cost of capital of 14%.

a. Initial investment is 10,000 euros; cash inflows are 2,000 euros per year.

b. Initial investment is 25,000 euros; cash inflows are 3000 euros per year.

c. Initial investment is 30,000 euros; cash inflows are 5,000 euros per year.

3. Kane Cosmetics is evaluating a new fragrance-mixing machine.  The machine requires an initial investment of 24,000 euros and will generate after-tax cash inflows of 5,000 euros per year for 8 years.  For each cost of capital listed, 1) calculate the NPV, and 2) indicate whether the firm should or should not invest.

a. The cost of capital is 10%.

b. The cost of capital is 12%.

c. The cost of capital is 14%.

4. Nell Corporation has three projects under consideration.  The cash flows for each of them are given below.  The firm has a 16% cost of capital.

Year

Project A

Project B

Project C

0

40,000 euros

40,000

40,000

1

13,000 euros

7,000


19,000

2

13,000 euros

10,000

16,000

3

13,000 euros

13,000

13,000

4

13,000 euros

16,000

10,000Cal

5

13,000 euros

19,000

7,000

a. Calculate each project’s payback period.  Which project is preferred according to this method?

b. Calculate each project’s net present value.  Which project is preferred according to this method?

c. Comment on your findings in a & b, and recommend the best project for investment.

5. Tell Designs has prepared the following estimates for a long-term project it is considering.  The initial investment is 18,250 euros, and the project is expected to yield after-tax cash inflows of 4,000 euros per year for 7 years.  The firm has a 10% cost of capital.

a. Determine the net present value of the project.

b. Determine the internal rate of return of the project.

c. Would you recommend that the firm accept the project or reject?  Explain your answer.

6. Nickels Roofing is considering two mutually exclusive projects, each with an initial investment of 150,000 euros.  The company’s board of directors has set a 4-year payback requirement and sets the cost of capital at 9%.  The cash inflows associated with the two projects are as follows:

Year

Project Y

Project Z

1


45,000 euros

75,000

2


45,000 euros

60,000

3


45,000 euros

30,000

4


45,000 euros

30,000

5


45,000 euros

30,000

6


45,000 euros

30,000

a. Calculate the payback period for each project.

b. Calculate the net present value of each project.

c. Calculate the internal rate of return of each project.

d. Rank them by each technique used.  Make and justify a recommendation.

